(7) FZEANIIZEI1T5B O DitH L

BOD (mg/L)

BOD(mg/L)

Fall

= SMIFE € SH2EE

- o— — & H :a
0 2 4 6 8 10 12 14 16 18 20
FFER /DD EEEE(km)
H w oW
51 =t # I8 B =X
5o B B R B 7
# N o # T
K = Kk 5
% il B L
=30
= 4M3FEE € SH2EE
40 50 60 70 80
TR LS D FERE(km)
INNVETERE B K | BB 7 £
SUARBEE NN W W E JI| £ B
IR IR i il

JIER il
i



BOD(mg/L)

—_

BOD(mg/L)

RN

= 4M3IEE €O SH2EE

e

mm

;)
n

n

n

it

G7 &
10 20 30 40 50
FFEE SR VS D FE R (km)
F T # %
= H = 3
J
HEEI
= $HMEE € SH2EE
!\‘KE‘:SZS}E~\E & & @
20 40 60 80 100 120
AN O EEEE(km)
WaMFlEL | B\ t =
NEANERST 1 @\ * =



